ZESTAWIENIE WYNIKOW OBLICZEN ELEKTRYCZNYCH
Zeszyt 7 - Instalacje zasilania urzadzen chtodzenia pomieszczen
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L.KL1-1 Jednostka KL1-1 2,21 0,93 10,32 57,00 YKYzo 3x|6 51 1,41 0,85 16,001 43,35 16,00 10,32 ok. 62,86 23,20 ok.
L.KL1-2 Jednostka KL1-2 2,21 0,93 10,32 57,00 YKYZzo 3x|6 51 1,41 0,85 16,00 43,35 16,00 10,32 ok. 62,86 25,60 ok.
L.KL2 Jednostka KL2 1,30 0,93 6,07 58,00 YKYzo 3x|6 51 0,85| 0,85 10,00 43,35 10,00 6,07 ok. 62,86 16,00 | ok.
L.KL3-1 Jednostka KL3-1 1,111 0,93 5,18 17,00 YKYzo 3x|4 40 0,32 0,85 10,00 34,00 10,00 5,18 ok. 49,30 16,00 ok.
L.KL3-2 Jednostka KL3-2 1,111 0,93 5,18 19,00 YKYzo 3x|4 40 0,36/ 0,85 10,00 34,00 10,00 5,18 ok. 49,30 16,00 ok.
L.KL3-3 Jednostka KL3-3 1,111 0,93 5,18 20,00 YKYzo 3x|4 40 0,37 0,85 10,00 34,00 10,00 5,18 ok. 49,30 16,00 ok.
L.KL4 Jednostka KL4 1,13 0,93 5,28 18,00 YKYzo 3x|4 40 0,34| 0,85 10,00 34,00 10,00 5,28 ok. 49,30 16,00 | ok.
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